normalized X2

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

107}

1072

107

Entries 1674
Mean 1.089
Std Dev 0.8233

Entries
Mean 1.089
0.8236

“ | std Dev

N2 4 6 8101214161820

=
(S
T T

o
|||m|H
e

[ normalized x? probability |

Ratio

0.06

0.05

0.04

0.03]

0.02

20304

o
e

07 08 0 9 1
Prob(x2)

O_—

= DQM_nNO! Fliz_s&epz_nbar-phasel—newgeom
w—— DQM_Fit2_step2_ttbar-phasel-newgeom

wmmmm DQM_Fit2AndCPEGeneric_step2_ttbar-phasel-newgeom
weses DQM_Fit2AndCPETemplate_step2_ttbar-phasel-newgeom

1.0

0. L .
10 1 10 10? p'Lo3
T

< X2/ ndf >

Ratio

i
T T[T [T [T T I [T TIT T

1 -1
AR(track, jet?



	Contents
	Page 1


